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1. Find the time domain signal that has the following Fourier Transform, which is called
Low-Pass Filter: A
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2. Find the Fourier Transform of the one-sided exponential signal.
A

1 x(t) = exp[—at]u(t),a > 0
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3. Find the Discrete Fourier Transform of the following signals:
3 x(n)=6(n—-1),n=01,..,.N—1
3b x(n)=a"“,n=01,.,N—1

3.c x(n) =sin(2nfyn),n=0,1,..,N—-1
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4. Lety(n) be the filtering output when inputting x(n), determine the output with the
following inputs:

x(n)

Input

y(n)
Output
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4.a x(n—ngp), nyis a fixed natural number

4.b ax(n), ais a fixed real number

4.c  x(n) = e/2™o", { is a fixed real number
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